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a4 LTI ERE

NEAL ®) £, Zay1|&xa7 2| GROSS HDCP NET i J[1tiva &K Za7 1|22 7 2 |CROSS HDCP NET B &
1 BEH £ 39 44 83 16.8 66. 2 51 SR HE 40 39 79 6.0 13.0
2 #.E BB 38 38 76 8.4 67.6 52 =# HA 40 39 79 6.0 73.0
3 i & 41 34 15 1.2 67.8 53 BE FR 44 1 85 12.0 73.0
4 iR FE 39 40 79 10.8 68.2 b4 5H B 43 48 91 18.0 73.0
5 il EX 44 40 84 15.6 68.4 55 B BEXE 44 1 85 12.0 73.0
6 #E B 38 43 81 12.0 69.0 56 I & 50 46 96 22.8 73.2
1 #Et B 44 39 83 13.2 69. 8 57 KE E£F M 43 84 10.8 73.2
8 KHEH XK 48 39 87 16.8 70.2 b8 He &%= 47 49 96 22.8 73.2
9 7 =8 39 36 75 4.8 70.2 59 WA % 39 39 78 4.8 73.2
10 H AA 43 38 81 10.8 70.2 60 Hr Ea 48 36 84 10.8 73.2
1 i B 47 46 93 22. 8 70.2 61 BH 50 46 96 22.8 73.2
12 BEX B 37 44 81 10.8 70.2 62 BE fp— 46 43 89 15.6 73.4
13 HA = 39 42 81 10.8 70.2 63 BE # 43 40 83 9.6 73.4
14 aEE & 41 39 80 9.6 70.4 64 Jilth B 41 48 95 21.6 73.4
15 #=H IRk 39 4 80 9.6 70. 4 65 =H &K 38 45 83 9.6 13.4
16 BH B 43 42 85 14.4 70.6 66 A EH 42 46 88 14. 4 73.6
17 2R X 43 48 91 20.4 70.6 67 BHe RE 42 46 88 14. 4 73.6
18 Al &8 48 54 102 31.2 70. 8 68 EE B2 44 44 88 14. 4 73.6
19 BRE HEF 44 46 90 19.2 70.8 69 i HEah 52 48 100 26.4 73.6
20 B & 43 4 84 13.2 70.8 70 E B 45 48 93 19.2 73.8
21 —f& & 43 46 89 18.0 71.0 yi #Bh AE 42 45 87 13.2 73.8
22 WE K 38 39 11 6.0 71.0 72 EH EX 46 47 93 19.2 73.8
23 5H —% 39 37 76 4.8 71.2 73 B = 46 47 93 19.2 73.8
24 & &= 38 37 75 3.6 1.4 14 FE =& 45 48 93 19.2 73.8
25 *R BE 49 49 98 26. 4 711.6 75 ik XA 43 44 87 13.2 73.8
26 B M 39 40 79 1.2 71.8 16 B BHA 46 4 87 13.2 73.8
21 W $F=¥ 47 49 96 24.0 72.0 11 EH XF 37 38 75 1.2 73.8
28 BER A% 41 43 84 12.0 72.0 78 RE A 45 47 92 18.0 74.0
29 EE A= 46 43 89 16.8 72.2 79 BfE &— 40 46 86 12.0 74.0
30 a2 ®HA 4 42 83 10.8 12.2 80 ES B 48 38 86 12.0 74.0
31 KO BEKER 43 46 89 16.8 72.2 81 ME 2 46 40 86 12.0 74.0
32 thig R 40 43 83 10. 8 72.2 82 EH B 54 55 109 34.8 74.2
33 IR & 38 33 I -1.2 72.2 BG 83 BEE A 46 45 91 16. 8 74.2
34 *k* BE 40 43 83 10.8 72.2 84 2B ®h 44 41 85 10. 8 74.2
35 Ky BE 49 40 89 16.8 72.2 85 7R FH 44 46 90 15.6 74. 4
36 FE BE 43 45 88 15.6 72. 4 86 BH# B 44 46 90 15. 6 74.4
37 =iF IF 40 42 82 9.6 72.4 87 BR #&EY 39 51 90 15. 6 74.4
38 IS 42 40 82 9.6 72. 4 88 R EEL 3| 43 84 9.6 74.4
39 B2X BB 40 4 81 8.4 72.6 89 Hig B 43 41 84 9.6 74.4
40 LB 47 46 93 20.4 72.6 90 KPP Btk 42 42 84 9.6 74. 4
4 ZBH E5 40 4 81 8.4 72. 6 9 N &5 40 44 84 9.6 74.4
42 E i 43 44 87 14.4 72.6 92 EE B 37 4 78 3.6 74. 4
43 BAN AE 43 38 81 8.4 72.6 93 BE [Fb& 40 43 83 8.4 74.6
44 i skl 46 46 92 19.2 72.8 94 B BF 43 46 89 14.4 74. 6
45 HEE = 43 43 86 13.2 72.8 95 R E 47 47 94 19.2 74.8
46 Bl B= 46 46 92 19.2 72.8 96 EH h— 40 42 82 1.2 74. 8
47 Bl B 43 48 9 18.0 73.0 97 £ B 44 44 88 13.2 74.8
48 &HI #= 42 43 85 12.0 73.0 98 XiE {E8I 48 46 94 19.2 74. 8
49 KiF #E 43 42 85 12.0 73.0 99 ZH — 45 42 87 12.0 75.0
50 BEs = 44 47 91 18.0 73.0 100 £% T 43 38 81 6.0 75.0
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wua4qe)LDIL 2 {ESER

NBAL K 4 Az 71 |A=F 2| GROSS HDCP NET 1% JII=tiva ® £ ZaF 1| A2 2 |GROSS HDCP NET =
101 | +3# =% 12 45 87 12.0 75.0 151 | FEJI #h2 55 49 104 25.2 78.8
102 | AdE B— 45 48 93 18,0 75.0 152 | JUsk HERED 50 43 98 19.2 78.8
103 | B2 E 51 54 105 30.0 75.0 153 | fngE = 48 48 96 16.8 79.2
104 | FH E& 42 39 81 6.0 75.0 154 | ®Nl 3tk 60 48 108 28.8 79.2
105 | ik &8 47 46 93 18.0 75.0 155 | 57 54 52 106 26.4 79.6
106 | EMmi &k 49 49 98 22.8 75.2 156 | B HH 52 48 100 20,4 79.6
107 | K #— 47 45 92 16.8 75.2 157 | fhE fih 47 47 94 14.4 79.6
108 | BFK 18 42 44 86 10.8 75.2 158 | RE @= 57 54 111 31.2 79.8
109 | =8 £ 51 47 98 22.8 75.2 159 | {pik B 50 60 110 30,0 80.0
110 | =87 B 46 45 91 15.6 75. 4 160 | I BF 54 55 109 28.8 80.2
111 | &% B8 43 42 85 9.6 75. 4 161 | /Avth BBk 50 59 109 28.8 80.2
112 | & —& 41 44 85 9.6 75.4 162 | 5 BE 48 42 90 9.6 80.4
113 | 3l & 46 51 97 21.6 75.4 163 | f0E BE 57 55 112 31.2 80.8
114 | #8 s 43 43 o 15.6 75.4 164 | B8 Ex 50 55 105 24.0 81,0
115 | RE #® 47 44 91 15.6 75.4 165 | HHE ik 57 53 110 28.8 81.2
116 | X f1p 46 38 84 8.4 75. 6 166 | &I £H 57 58 115 33.6 81.4
117 | &%k EA 44 16 90 14.4 75.6 167 | &% BX 50 47 97 15.6 81.4
118 | &M@ # 49 47 96 20. 4 75.6 168 | #HE i 58 60 118 36.0 82.0
119 | B JIR 51 50 101 25.2 75.8 169 | WA 2 51 55 106 22.8 83.2
120 | FIME E—ER 49 16 95 19,2 75.8 170 | &m 2 49 62 111 27.6 83.4
121 | R & 47 47 94 18,0 76.0 171 | A% # 49 53 102 18.0 84.0
122 | A% 8% 45 49 94 18.0 76.0 172 | BEE s 70 59 129 36.0 93.0
123 | =@ #= 41 16 87 10.8 76.2

124 | uo mE 47 52 99 22.8 76.2

125 | EnH# ¥£F 48 51 99 22 8 76.2

126 | M S 44 13 87 10.8 76.2

127 | KiE m% 51 47 08 21,6 76.4

128 | 1838 7B 37 43 80 3.6 76.4

129 | AL 4 40 40 80 3.6 76.4

130 | &I 40 49 48 97 20. 4 76.6

131 | hE E#h 40 39 79 2.4 76.6

132 | &3 &E 43 12 85 8.4 76.6

133 | =Bl =2 43 47 90 13,2 76.8

134 | &K BB 49 47 96 19.2 76.8

135 | #&A hiE 43 40 83 6.0 77.0

136 | =17 &= 50 44 94 16.8 71.2

137 | EE I® 48 45 93 15.6 71.4

138 | @\ EX a4 49 93 15. 6 77.4

139 | BEH BE 49 49 98 20.4 71.6

140 [ +B e 46 40 86 8.4 71.6

141 | BE g= 45 52 97 19.2 71.8

142 | s EEF 44 1 85 1.2 71.8

143 | e E8E 56 52 108 30.0 78.0

144 | B8 T 56 52 108 30.0 78.0

145 | f0m x8 45 44 89 10.8 78.2

146 | =% HE 46 49 95 16.8 78.2

147 | k& # 48 4 89 10.8 78.2

148 | =8 BF 48 59 107 28.8 78.2

149 | B %%k 43 45 88 9.6 78. 4

150 | ¥t %— 46 52 98 19,2 78.8
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Wi A ILDIL 7 {EEE

NEfE % 4 o |Ra7 1| A=7 2 | GROSS HDCP NET E = NEAEL % pa Za71|&x=7 2 |GROSS HDCP NET B x
1 | VR & 38 33 I 0.0 71.0 51 | %M =& 45 42 87 0.0 87.0
2 | BR E- 38 37 75 0.0 75.0 skE i 18 39 87 0.0 87.0
EH STH 37 38 75 0.0 75.0 WE BE 44 43 87 0.0 87.0
i EF 41 34 75 0.0 75.0 FZi H\A 46 41 87 0.0 87.0
5 | #t HE 38 38 76 0.0 76.0 TH# =% 42 45 87 0.0 87.0
B —% 39 37 76 0.0 76.0 gk AE 43 44 87 0.0 87.0
7 L #k 38 39 71 0.0 71.0 57 | &1 & 44 44 88 0.0 88.0
8 | wo B 39 39 78 0.0 78.0 BE #2 44 14 88 0.0 88. 0
A B 37 41 78 0.0 78.0 AR i 42 46 88 0.0 88.0
10 | B & 39 40 79 0.0 79.0 For: =Y 43 45 88 0.0 88.0
A %8 39 40 79 0.0 79.0 61 | —f {3 43 46 89 0.0 89.0
hE kA 40 39 79 0.0 79.0 A = 48 41 89 0.0 89.0
13 | Kt 4 40 40 80 0.0 80.0 Xy 5% 49 40 89 0.0 89.0
3 Y 39 4 80 0.0 80.0 it e 46 43 89 0.0 89.0
®iE i3S 37 43 80 0.0 80.0 HE X5 45 44 89 0.0 89.0
16 | .t & 38 43 81 0.0 81.0 66 | EIH A 1 46 90 0.0 90.0
=R BIE 13 38 81 0.0 81.0 #5 B 48 42 90 0.0 90.0
{£% EH 43 38 81 0.0 81.0 =X BEA 44 46 90 0.0 90.0
i AA 43 38 8 0.0 81.0 69 | IRE B 'Yl 44 91 0.0 91.0
A R 37 44 81 0.0 81.0 BE % 43 18 91 0.0 91.0
LB EE 42 39 81 0.0 81.0 B B 43 18 91 0.0 91,0
ZH BE 40 41 81 0.0 81.0 =iF EiE 46 45 91 0.0 91.0
EE BE 40 41 81 0.0 81.0 BB B 43 48 ] 0.0 91.0
24 | =i E 40 42 82 0.0 82.0 74 | K FE— 47 45 92 0.0 92.0
]S 42 40 82 0.0 82.0 Bl B 46 46 92 0.0 92.0
EH Hi— 40 42 82 0.0 82.0 s 46 46 92 0.0 92.0
27 | k% B 40 43 83 0.0 83.0 77 | .k & 45 48 93 0.0 93.0
=3 ZE 38 45 83 0.0 83.0 ME K 44 49 93 0.0 93.0
HE B - 44 39 83 0.0 83.0 x5 Ex 46 47 93 0.0 93.0
EH £ 39 44 83 0.0 83.0 EEE B 41 46 93 0.0 93.0
Bk B 43 40 83 0.0 83.0 #il Bt 47 46 93 0.0 93.0
A RA 41 42 83 0.0 83.0 ek B 45 48 93 0.0 93.0
thigy P 40 43 83 0.0 83.0 g ¥ 46 47 93 0.0 93.0
34 | oIl Bk 44 40 84 0.0 84.0 thE &% 47 46 93 0.0 93.0
A5 £=F 41 43 84 0.0 84.0 85 | X 28 48 46 94 0.0 94.0
Hif FA 48 36 84 0.0 84.0 R4 8% 45 49 94 0.0 94.0
FE EE 4 43 84 0.0 84.0 hE 5 47 47 94 0.0 94,0
5 = 43 41 84 0.0 84.0 e s 47 47 94 0.0 94.0
HE As 4 43 84 0.0 84.0 80 | Jush B 47 48 95 0.0 95,0
40 | BE =R 44 41 85 0.0 85.0 R EE 46 49 95 0.0 95.0
Kig HE 43 42 85 0.0 85.0 MM H¥—ER 49 46 95 0.0 95.0
HE Tk 44 41 85 0.0 85.0 92 | e = 50 46 96 0.0 96.0
&3k BAER 44 41 85 0.0 85.0 BEHE i 50 46 96 0.0 96.0
B B . 43 42 85 0.0 85.0 | kK RTHE 19 47 96 0.0 96.0
-5 41 M 85 0.0 85.0 M s 47 49 96 0.0 96.0
46 | BEE = 43 43 86 0.0 86.0 96 | #3 X 50 47 97 0.0 97.0
E8 BN 48 38 86 0.0 86.0 v 46 51 97 0.0 97.0
E BT 46 40 86 0.0 86.0 ) 49 48 97 0.0 97.0
#Hk 1B 42 44 86 0.0 86.0 R g 45 52 97 0.0 97.0
Bk & 40 46 86 0.0 86.0 100 | &R ER 49 49 93 0.0 98, 0
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20115£04H07H
WILO 4 v)LT)L J{EEE
NERE % £ Aay1|A=7 2| GROSS HDCP NET H NEAL ® £ A7 1 | A= 72 |GROSS HDCP NET g #
=E G0 51 41 98 0.0 98.0
NE RERED 50 48 98 0.0 98.0
EH BE 49 49 98 0.0 98.0
104 | o Bk 47 52 99 0.0 99.0
105 | # ZE3h 52 48 100 0.0 100. 0
106 | @% FA 51 50 101 0.0 101.0
107 | |\ E@& 48 54 102 0.0 102.0
108 | #ENI #& 55 49 104 0.0 104.0
100 | B0 E 51 54 105 0.0 105. 0
BE £x 50 55 105 0.0 105.0
111 | \He 2 51 55 106 0.0 106.0
HmE B 54 52 106 0.0 106.0
113 | s %45 56 52 108 0.0 108. 0
114 | /it BBk 50 59 109 0.0 109. 0
5 18 54 55 109 0.0 109.0
116 | #$mH sk 57 53 110 0.0 110.0
117 | FE @= 57 54 111 0.0 111.0
2H e 49 62 111 0.0 111.0
119 | M1\ &=E 51 55 112 0.0 112.0

120 | BRH A 10 59 129 0.0 129.0




Ek2 3EE EK EESTEZEDOR 20114704 A07H
BloA )L I)L 7{E5RE
JIEAL K 4 AT 1 a7y 2 GROSS HDCP NET -2
1 | =ZH# ®HA 40 39 79 0.0 79.0
2 | K £ 39 42 81 0.0 81.0
3 | &K H=xE 43 40 83 0.0 83.0
5 35k 40 43 83 0.0 83.0
5 | WA £F 40 44 84 0.0 84.0
6 | g EET 44 a1 85 0.0 85.0
7 | £l =% 46 40 86 0.0 86.0
8 | B EHF 43 46 89 0.0 89.0
9 | BH H=ETF 44 46 90 0.0 90.0
=R #EY 39 51 90 0.0 90. 0
Paie FHA 44 46 90 0.0 90.0
12 | #E & 49 47 96 0.0 96. 0
£H =F 47 49 96 0.0 96.0
14 | EH EF 48 51 99 0.0 99.0
15 | & HF 48 59 107 0.0 107.0
16 | &l BF 54 55 109 0.0 109.0
17 | BB BE 50 60 110 0.0 110.0
18 | Il £& 57 58 115 0.0 115.0




